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Hit sl - Sk 7 A1 D 5 | 5 0/3 VLR X 10 7 | 3 | 3/11
T RATE 10 | 10 5/17 FRIEX 12| 5 7 | 8/13
fE A i PRI 55 SR 1 1 0/2 X 4 4 1/4
ALB - AR — 8 7 1 3/17 [l 8 | 8 6/15
BRAFEER 9 8 1 | 3/11 PE X 5 2| 3 4/5
AL 121 9 3 | 4/14 SRR 2 | 2
Pt AR5 5 4 1 3/4 REEHALEBESFER 6 | 3 | 3 1/3
TR - [ B 4 4 1/4 A%é;ﬁ%%a‘%ﬁ 1 1 0/1
FEMK PET 9 7 2 | 2/12 =& FI=E=x 7 2 | 2 0/3
H T BORED 8 | 7 1 3/9 THBS SR 5 | 4 | 1 1/3
feis sl 7 7 0/6 BEZBESFBR 5 | 4 1 2/5
TARER 5 5 1/6 SN 4 | 4 0/5
TKIER 8 5 3 | 8/11 EER 2 | 2 1/6
MBS EB 22 | 20 | 2 | 6/25 & &t 221 [ 194 | 27 |69/249
ikl 2|8 | 4|20 X EEOERRRTIE, FEHMEEL: IRERER R
BT BORAFZE T 3 3 0/3
JeX 10 | 7 3 | 3/11
X 6 4 2 2/7
kX 11| 9 2 | 3/12




